Practice
Equations of Lines: Parallel, Perpendicular, Intersecting, and Coinciding Lines

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

#1) State whether these lines are parallel, perpendicular, intersecting, or coinciding:
2x—3y=-3

8x—-2y=2

#2) State whether these lines are parallel, perpendicular, intersecting, or coinciding:
6x—2y=—+4
6x—-3y=-9

#3) State whether these lines are parallel, perpendicular, intersecting, or coinciding:
5x-6y==6
12x+10y =—10

#4) State whether these lines are parallel, perpendicular, intersecting, or coinciding:
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#5) Write the equation of a line in slope-intercept form which is parallel to the given line:

y=3x-1



#6) Write the equation of a line in slope-intercept form which is parallel to the given line:  x+2y=6

#7) Write the equation of a line in slope-intercept form which is perpendicular to the given line:
y=3x-1 '

#8) Write the equation of a line in slope-intercept form which is perpendicular to the given line:
x+2y=6



Answers:

#1)

#2)
#3)
#4)

#3)

#6)

#7)

parallel
imersecting

perpendicular
coinciding

many correct answers, including

y=3x+2
y=2x+1
y=3x+15

y = 3x + (anything except —1)

many correct answers, including :
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p=——x+1
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y=——x+582
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y=- > X+ (anvthing except 3)

many correct answers, including .
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y=—=x—l
|
y=——x+542
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y=- % x+ (anything)

#8) many correct answers, including

y=2x
y=2x+1
y=2x-14

y = 2x+(anything)



Suolutions:

#11) State whether these tines ave parallel, perpendicular, inlerseeting, or coincicling:
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#2) State whether these lines are parallel, pependicular. interseeting, ov coinciding:
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i13) State \\']lt‘lht‘t l]wse lines are paraliel, pupuullml.n interseeting, or coinciding:
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#4) State whether these lines are parallel, perpendicular, intersecting, or coinciding:
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©#15) Write the equation ol a tine in slope-intereept formy which is parallel to the piven line: y = 3x -1
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#6) Write the equation of a hine in slope-itereepl form which is parallel to the given line: x+2y=0
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#8) Write the equation of a line in slope-intercept Torm which is pegpendicular to the given line:
X+2y=0
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